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. Fixed cost per unit at current level of sales is Rs. 15

SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questions.
Discuss the significance of Financial management,
PAWWD Cuararewwden (adlusgesdamarn efourd,

Calculate operating leverage and financial leverage for Maruthi
Limited, from the following information :

Number of units produced 50,000
Selling price per unit i Rs. 50
Variable cost per unit is Rs. 20

Interest on debentures Rs. 1,50,000.-

- Aémaud gaeudsmars Qarar® wrggd Sl yer @uiss AFwdHper

whob HHuGwed Qewwdper pdueupdamers sarsd@s.

2 pusd Qewiiul L se@saflen eramaniisans 50,000

DG ganlen eflpuenar aflened ¢m. 50

Si0G gemPlen wrpum_ G GFwa] op. 20,

BLLIL| BieTey aﬁlg_bﬁs'mcru&]sin Penew 21L& GFwe| @ pamm&a ap. 15
L ugHriiseErssTer aulig @p. 1,50,000.

X limited issued 50,000, 8% debentures of Rs.' 10 each at a
premium of 10%. The cost of floatation are 2%. The rate of tax
applicable to the company is 60%. Compute the cost of debt
capital. ]

X SAQLL 50,000, 8% slen usHrismer ep. 10 aisd 10%
wpaanwsHed Geuafudig. opar Ogma SLss Gsae 2%
PpwsHpaiu -aufl flgnp 60% sl WPl IiLbssdoans
sewEE O, ' R ' ‘ ' .

The earnings per share of N limited are Rs. 15 and the rate of .
capitalization applicable to the- company  is 12%. The
brdductiVity of earnings (r) is 12%. [
Compute the m‘arkef value of the coml;any’s share if the pa};Out
is 20% and 50% which is the optimum payout?

N Sbliyer sog gapscilu F_.E50smms . 15 Cugibd
Powsfveiu weogar -aAfsd 12% 2 pusdsshu  amard
@) = 12%. Agwsdar uhiGsEsERu sHmg wHlGman 20% wHHID
50% Qesaweclansfler samasd B @ orpg Gsweiland 2 sHss s

- SIS, o '
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Calculate the operating cycle of a company which gives the
following details relating to its operations :

Rs.

Raw material consumptions per annum  8,42,000
Annual cost of production 14,25,000
Annual cost of sales ' '*15,30,000
Annual sales 19,50,000
Average value of current assets held

Raw materials 1,24,000
Work-in-progress _ 72,000
Finished goods - 1,22,000
Debtors | 2,60,000

The company gets 30 days credit from 'its suppliers. All sales
made by the firm are on credit only. You may take one year as
equal to 365 days.

@® Hpwsdar Qewour @s&eflu  dlupmsdr  ereumwmm
SaflssiiuHererg). Qswens Qaram® Qsuour (@ spHeulmend
sa&5E(H .

.
LG LIM(mET BIETe L aTHEES , 8.42,000
DTG 61 2 HUSS DIL_ESHLD -14,25,000
% eTig.6 6l HUIGHET BiL&SLD 15,30,000
@ (H eflhuenen 19,50,000
Bl Qerggisaatian syref wHL@LwWE
epalQurmLgear ‘ 1,24,000
raQupr Geuene AL 72,000
wyaydo Geuanaw LI 1,22,000
sLenmraflger 2,60,000

Popwd saig #r6@ sftivaisal BGis 30 prisese s
Quydlpgl. Hpwsdear marsg eApumeanyd sLeisE WL ECW
QelwiuEADS. G5 UBLLD atLg 365 B _smars GHlsSng.
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Rakesh Limited earns a profit of Rs. 10 per share. The rate of
capitalisation is 12% and the productivity of retained earnings
(r) is 10%. Using Gordon’s Model, determine the market price per

_share if the pay out is 30% and 60%.

prisey AL QL6 i@ gandlen eumauri @ Osres m. 10.
waarEs oilflgn 12% Cueib g shsmeudsiul L aumeUTU)
2 Hugdl (r) 10% srienen wpevpenis Lwau@SE e Lkider Eheng
williGenar 30% wpmib 50% LBETSTW euphE Nds586 samsd(Hs.

Given the following information, you are required to compute
capitalization and capital structure.

Rs.
Equity share capital 10,00,000

Preference share capital . 5,00,000

Long term loans 2,00,000
Retaiﬁed earnings 6,0.0,006
Capital surplus 50,000
Current liabilities 1,50,000

Geraumd gaeuiser 2wsE Seflssiul Gereng. Qamas Qsran()
Ysonés5Emanub HYID WEaar amlndmanyb sarss s,
: ®
gflgw LG W 10,00,000
wen@iflenio LG pso - 5,00,000
Bawr sre sLcngar 2,00,000
gse%aﬁmm&a;uul;L QU (mHeumLl 6),00.000

wpzedler 2 Lifl 50,000

BLly Qurmliyser 1,50,000
What are the advantages of adequate working capital?
Gurgioren BarL_wpenm (PSES6 HeTenLoGET WTg)?
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SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

Explain the objectives of financial management.

BHuflwed Cueramenwuler Crrésmsamaer 6hansEs.

Samy company’s share is quoted in the market at Rs. 20
currently. The company pays a dividend of Re. 1 per share and
investor’s market expects a growth rate of 5% per year.

(a) Compute the company’s equity cost of capital

(b) If the anticipated growth rate 1s 6% p.a., calculate the
indicated market price per share

(¢) If the company’s cost of capital is 8% and anticipated
growth rate is 5% p.a., calculate the indicated market price
if the dividend of Re. 1 per share is to be maintained.

smfl fmwgdler pLUY sheng wHUY ep. 20. Hmwbd eléEh

LBISTSTWID LG @enisE (5. 1. Cuaib wpgeil L meniaer erdumiéeLh

ghang cuemies] NSlFD <y am(H&E 5%.

(=) Pmwsder sflgn P ALEHD SaTEH(HS

() ediurrEsuu@n eetidsl eI amhsEG 6% aafld umheg
gemdlen &g &ST_LLILEHLWD sHeng wHlemars samsd(Hs

(&) FPmwsden pgeflar LGsbd 8% Cuaub erdiurissiu@b

- auariéSl aigib yem(HEE 5% LG geTdlen LksTSTWID . 1 eran

ugroflgsiiu@n Curg o drer sheng LHLILE saTésd He.

Calculate the operating leverage, financial leverage and the

combined leverage for the following firms and interpret the
results :

P Q R
< Output (units) ‘ 3,00,000 75,000 5,00,000
Fixed cost (Rs.) ©3,50,000 7,00,000 75,000
" Variable cost per unit (Rs.) 1 7.5 © 0.1
Interest expenses ( Rs.) 25,000 40,000 Nil
Unit selling price (Rs.) 3 25 0.5
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Gemeupid minsden Quises Qewadper, Hl&ulwed Qewddnar whmib
emdlmanss Qeuadnar ydwuenidlamers samsil( (pigelseamar
clems&s. :

P Q R
Ceuefluum® (1o @ser) 3,00,000 75,000 5,00,000

Hleney o(L_&sLb ( (. ) 3,50,000 7,00,000 75,000

LIPUGHLD AL ES QFOE SIOEG RIS (6. ) 1 7.5 0.1
QL 1g. GFeayser (ef.) ; 25,000 40,000 Nil
e ganflar ipLanan e (5.) 3 05 0.5

The following information relates to Somedev limited :
Earning of the company Rs. 10,00,000

Dividend paid Rs. 6,00,000

Number of shares outstanding 1,00,000

Price earning ratio is 10

Rate of return on investment is 15%

Are you satisfied with the current dividend policy of the firm?
If not, what should be the.optimal dividend payout ratio? Use
Walter’s model.

Qemreupd gaaidsar CembGaeu NOGLL e sbUBSILIL L g).
Blmiwgder eumeumis er. 10,00,000

SeflEsiul L ukisrgmwb . 6,00,000

Qeuafludieh 2 erer Likigsear eramanfigens 1,00,000

au(HeUml ellened @S]eﬂg;Lb 10 .

WwaSGsen Barer Hmrin eNfgsb 15%

Bmwgdern pLLil LhsTsTw Qardarams &mLidwelsHnsT?
Qomatuaid 2 565 Grrelar LRETsTL AL WTH? UTOL 6

wepulilamer LWETUHSSIS.
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